## Br. J. MAHON

Catholic College of Education, Sydney, Australia 2154

A. F. HORADAM

University of New England, Armidale, Australia 2351

(Submitted March 1985)

#### 1. INTRODUCTION

In [1] and [2], Byrd introduced a sequence of polynomials which we call Pell. These polynomials may be defined, in the first instance, thus:

$$\begin{cases} p_0(x) = 0, \ p_1(x) = 1, \\ (1.1) \end{cases}$$

$$p_{n+1}(x) = 2xp_n(x) + p_{n-1}(x)$$
, for  $n \ge 1$ .

The polynomials cognate to these, the Pell-Lucas, may be defined thus:

$$\begin{cases} q_0(x) = 2, \ q_1(x) = 2x, \\ q_{n+1}(x) = 2xq_n(x) + q_{n-1}(x), \text{ for } n \ge 1. \end{cases}$$
(1.2)

These two sequences have been studied in more detail in [5]-[10]. The Binet formulas for the two sequences of polynomials are

$$p_n(x) = \frac{\eta^n - \psi^n}{\eta - \psi}$$
(1.3)

$$q_n(x) = \eta^n + \psi^n \tag{1.4}$$

where  $\eta, \; \psi$  are roots of the equation

$$y^2 - 2xy - 1 = 0. (1.5)$$

Hence,  $\eta$ ,  $\psi$  are given by

$$\eta = x + \sqrt{(x^2 + 1)}, \quad \psi = x - \sqrt{(x^2 + 1)}.$$
 (1.6)

In [12]-[14], Walton, and Walton & Horadam have studied a sequence of generalized Pell polynomials. They are defined thus:

$$\begin{cases} A_0(x) = q, A_1(x) = p, \\ A_{n+1}(x) = 2xA_n(x) + A_{n-1}(x), \text{ for } n \ge 1. \end{cases}$$
(1.7)

Another sequence of generalized Pell polynomials or, rather, a constellation of them is proposed here.

## 2. FIRST ENCOUNTER WITH THE CONSTELLATION OF SEQUENCES OF

### GENERALIZED PELL POLYNOMIALS

This constellation was first encountered in an effort to replicate for Pell polynomials what Gould [3] and others had done with a formula of Lucas. An important identity for  $p_n(x)$ , easily proved from Binet formulas (1.3) and (1.4) is:

[May

$$p_{n+m}(x) - q_m(x)p_n(x) + (-)^m p_{n-m}(x) = 0$$
(2.1)

This may be regarded as a generalization for (1.1). By repeated applications of (2.1), we get:

$$p_{n}(x)$$

$$= q_{m}(x)p_{n-m}(x) + (-)^{m-1}p_{n-2m}(x)$$

$$= (q_{m}^{2}(x) + (-)^{m-1})p_{n-2m}(x) + (-)^{m-1}q_{m}(x)p_{n-3m}(x)$$

$$= (q_{m}^{3}(x) + 2(-)^{m-1}q_{m}(x))p_{n-3m}(x) + (-)^{m-1}(q_{m}(x) + (-)^{m-1})p_{n-4m}(x)$$

$$= (q_{m}^{4}(x) + 3(-)^{m-1}q_{m}^{2}(x) + (-)^{2(m-1)})p_{n-4m}(x) +$$

$$+ (-)^{m-1}(q_{m}^{3}(x) + 2(-)^{m-1}q_{m}(x))p_{n-5m}(x)$$

$$(2.2)$$

We may present these lines thus:

$$p_{n}(x)$$

$$= p_{1,m}(x)p_{n}(x) + (-)^{m-1}p_{0,m}(x)p_{n-m}(x)$$

$$= p_{2,m}(x)p_{n-m}(x) + (-)^{m-1}p_{1,m}(x)p_{n-2m}(x)$$

$$= p_{3,m}(x)p_{n-2m}(x) + (-)^{m-1}p_{2,m}(x)p_{n-3m}(x)$$

$$= p_{4,m}(x)p_{n-3m}(x) + (-)^{m-1}p_{3,m}(x)p_{n-4m}(x)$$

$$= p_{5,m}(x)p_{n-4m}(x) + (-)^{m-1}p_{4,m}(x)p_{n-5m}(x)$$

$$(2.3)$$

where

$$\begin{cases} p_{0,m}(x) = 0 \\ p_{1,m}(x) = 1 \\ p_{2,m}(x) = q_m(x) \\ p_{3,m}(x) = q_m^2(x) + (-)^{m-1} \\ p_{4,m}(x) = q_m^3(x) + 2(-)^{m-1}q_m(x) \\ p_{5,m}(x) = q_m^4(x) + 3(-)^{m-1}q_m(x) + (-)^{2(m-1)} \end{cases}$$

The procedure followed in (2.2) and (2.3) may be continued indefinitely, when allowance is made for the first subscript to be negative. It is clear from (2.2) that

$$p_{n,m}(x) = q_m(x)p_{n-1,m}(x) + (-)^{m-1}p_{n-2,m}(x).$$
(2.5)

Starting again, we may define the sequence  $\{p_{n.\,m}\left(x\right)\}$  thus:

$$\begin{cases} p_{0,m}(x) = 0, \ p_{1,m}(x) = 1, \\ p_{n+1,m}(x) = q_m(x)p_{n,m}(x) + (-)^{m-1}p_{n-1,m}(x), \text{ for } n \ge 1. \end{cases}$$
(2.6)

The defining equation gives rise to a constellation of sequences, one for each value of m.

# 3. SOME IDENTITIES AND GENERATORS FOR THE SEQUENCE $\left\{\mathcal{P}_{n,m}\left(x ight) ight\}$

The results in (2.4) may be used as the basis for a proof by induction of an explicit formula for  $p_{n,m}(x)$ . It is:

$$p_{n,m}(x) = \sum_{i=0}^{\left[\binom{(n-1)/2}{2} (-)^{i\binom{m-1}{(m-1)}} \binom{n-1-i}{i} q_m^{n-1-2i}(x)\right]} (3.1)$$

1987]

107

(2.4)

From this we may show that:

$$q_m^n(x) = \sum_{r=0}^{\lfloor n/2 \rfloor} (-)^{rm} {n \choose r} \frac{n-2r+1}{n-r+1} p_{n+1-2r,m}(x)$$
(3.2)

The Binet formula, also proved by induction, is:

$$p_{n,m}(x) = \frac{\eta^{\nu m} - \psi^{\nu m}}{\eta^m - \psi^m}$$
(3.3)

where  $\eta$  and  $\psi$  are as introduced in (1.6). If the Binet formula were used to define the sequence, negative integral values for *n* and *m* are easily introduced.

From (1.3) and (3.3), we have:

$$p_{nm}(x) = p_{n,m}(x)p_{m}(x)$$
(3.3')

A determinantal generator for  $p_{n,m}(x)$  is  $\delta_{n,m}(x)$ . The determinant is of order n and is defined thus:

$$\delta_{n,m}(x): \begin{cases} d_{rr} = q_m(x) & \text{for } r = 1, 2, \dots, n \\ d_{r,r+1} = (-)^m & \text{for } r = 1, 2, \dots, n-1 \\ d_{r,r-1} = 1 & \text{for } r = 2, 3, \dots, n \\ d_{rc} = 0 & \text{otherwise} \end{cases}$$
(3.4)

where  $d_{r\sigma}$  is the entry in the  $r^{\rm th}$  row and  $\sigma^{\rm th}$  column of  $\delta_{n,\,m}(x)$  . One may prove by induction that

$$\delta_{n,m}(x) = p_{n+1,m}(x) \text{ for } n \ge 1.$$
 (3.5)

A matrix generator for  $p_{n,m}(x)$  is:

$$\mathscr{P}_{m} = \begin{bmatrix} q_{m}(x) & (-)^{m-1} \\ 1 & 0 \end{bmatrix}$$
(3.6)

We can easily show, by induction again, that:

$$\mathcal{P}_{m}^{n} = \begin{bmatrix} p_{n+1,m}(x) & (-)^{m-1}p_{n,m}(x) \\ p_{n,m}(x) & (-)^{m-1}p_{n-1,m}(x) \end{bmatrix}$$
(3.7)

The matrix  $\mathscr{P}_m$  has been employed to establish several identities. There are other matrix generators for the sequence.

An algebraic generator is

$$\sum_{n=0}^{\infty} p_{n+1, m}(x) = 1/(1 - q_m(x)y + (-)^m y^2), \qquad (3.8)$$

and an exponential generator is:

$$\sum_{n=0}^{\infty} p_{n,m}(x) y^n / n! = \frac{e^{\eta^m y} - e^{\psi^m y}}{\eta^m - \psi^m}$$

The justification for regarding  $\{p_{n,m}(x)\}$  as a generalization for  $\{p_n(x)\}$  is that, when we put m = 1 in the results given above and in others, we obtain

[May

108

.

.

the corresponding formulas for the Pell polynomials. First and foremost, we have

$$p_{n,1}(x) = p_n(x).$$
 (3.10)

We mention, finally, in this section two identities which have been proved by using the matrix  $\mathscr{P}_m$ . They are the Simson formula and its generalization for  $p_{n,m}(x)$ .

$$p_{n+1,m}(x)p_{n-1,m}(x) - p_{n,m}^{2}(x) = (-)^{m(n-1)+1}$$
(3.11)

$$p_{n+r,m}(x)p_{n-r,m}(x) - p_{n,m}^{2}(x) = (-)^{m(n-r)+1}p_{r,m}^{2}(x)$$
(3.12)

4. RELATIONS OF 
$$\{p_{n,m}(x)\}$$
 WITH CHEBYSHEV POLYNOMIALS

In [1], [2], [5], [6], and [7] some relations of Pell and Pell-Lucas polynomials with Chebyshev polynomials were explored. If we regard  $\{p_{n,m}(x)\}$  as a generalization of Pell polynomials, then we would also expect that it should have connections. However, we need to construct first a generalization for Chebyshev polynomials of the second kind [11]. These are  $\{U_{n,m}(x)\}$  defined in the following manner:

$$U_{0,m}(x) = 1, \ U_{1,m}(x) = 2T_m(x),$$
(4.1)

$$U_{n+1,m}(x) = 2T_m(x)U_{n,m}(x) - U_{n-1,m}(x)$$
, for  $n \ge 1$ ,

where  $T_m(x)$  is the  $m^{\text{th}}$  Chebyshev polynomial of the first kind [11].

With this definition, it is possible to prove by induction that

$$U_{n,m}(x) = \sum_{j=0}^{\lfloor n/2 \rfloor} (-)^{j} {\binom{n-j}{j}} (2T_{m}(x))^{n-2j}, \text{ for } n \ge 1.$$
(4.2)

Following from (4.2), we can prove that

$$p_{n,m}(x) = (-i)^{(n-1)m} U_{n-1,m}(ix).$$
(4.3)

A hypergeometric representation for  $p_{n,m}(x)$  follows from (4.3). It is

$$p_{n,m}(x) = n_2 F_1(n+1, -n+1; 3/2; Y_m) / i^{(n-1)m}$$
(4.4)

where

$$X_m = (2 - i^m q_m(x))/4.$$
(4.5)

Another explicit expression for  $p_{n,m}(x)$  may also be derived from (4.3), namely,

$$p_{n,m}(x) = \sum_{k=0}^{\left[\binom{n-1}{2}\right]} \binom{n}{2k+1} (q_m(x)/2)^{n-1-2k} (X_m/4)^k$$
(4.6)

where  $X_m$  is the discriminant of the auxiliary equation of  $p_{n,m}(x)$ , i.e.,

 $y^{2} - q_{m}(x)y + (-)^{m} = 0.$ (4.7)

This means that

$$X_m = q_m^2(x) + 4(-)^{m-1}.$$
(4.8)

Starting from (2.5) and the identity below, easily established from Binet formulas,  $% \left( \frac{1}{2} \right) = 0$ 

$$q_{(n+1)m}(x) - (q_m^2(x) + 4(-)^{m-1})p_{n,m}(x) + (-)^{m-1}q_{(n-1)m}(x) = 0,$$
(4.9)  
we obtain other explicit expressions for  $p_{n,m}(x)$ . They are:

1987] 109

$$p_{2n+1,m}(x) = \sum_{k=0}^{n} (-)^{km} \frac{2n+1}{2n+1-k} {\binom{2n+1-k}{k}} X_m^{n-k}; \qquad (4.10)$$

and

$$p_{2n,m}(x) = \left\{ \sum_{k=0}^{n-1} (-)^{km} \binom{2n-1-k}{k} X_m^{n-1-k} \right\} q_m(x).$$
(4.11)

These interesting and aesthetically appealing formulas for the constellation of sequences  $\{p_{n,m}(x)\}$  are a sample of the large number that have been obtained.

### REFERENCES

- P.F. Byrd. "Expansion of Analytic Functions in Polynomials with Fibonacci Numbers." *The Fibonacci Quarterly* 1, no. 1 (1963):16-24.
   P.F. Byrd. "Expansion of Analytic Functions in Terms Involving Lucas Num-
- P.F. Byrd. "Expansion of Analytic Functions in Terms Involving Lucas Numbers or Similar Sequences." The Fibonacci Quarterly 3, no. 2 (1965):101-14.
- H. Gould. "A Fibonacci Formula of Lucas and Its Subsequent Manifestations and Rediscoveries." The Fibonacci Quarterly 15, no. 1 (1977):25-29.
- 4. A. F. Horadam. "A Generalised Fibonacci Sequence." American Mathematical Monthly 68 (1961):455-59.
- 5. A.F. Horadam & J.M. Mahon. "Pell and Pell-Lucas Polynomials." The Fibonacci Quarterly 23, no. 1 (1985):7-20.
- 6. A. F. Horadam & J. M. Mahon. "Convolutions for Pell Polynomials." (To appear.)
- 7. J. M. Mahon. "Pell Polynomials." M.A. Thesis, University of New England, 1984.
- 8. J. M. Mahon & A. F. Horadam. "Inverse Trigonometrical Summations Involving Pell Polynomials." *The Fibonacci Quarterly* 23, no. 4 (1985):319-24.
- 9. J.M. Mahon & A.F. Horadam. "Infinite Series Summations Involving Pell Polynomials." (To appear.)
- 10. J. M. Mahon & A. F. Horadam. "Matrix and Other Summation Techniques for Pell Polynomials." The Fibonacci Quarterly 24, no. 4 (1986):290-309.
- 11. E.D. Rainville. Special Functions. New York: Macmillan, 1960.
- 12. J.E. Walton. "Properties of Second Order Recurrence Relations." M.Sc. Thesis, University of New England, 1968.
- 13. J. E. Walton. "Generalised Fibonacci Polynomials." Australian Mathematics Teacher 32, no. 6 (1976):204-07.
- 14. J. E. Walton & A. F. Horadam. "Generalized Pell Polynomials and Other Polynomials." The Fibonacci Quarterly 22, no. 4 (1984):336-39.

## \*\*\*